SampLe Test 1
Prys 111 Sering 2010

Name: /( ey
By writing my name above, I affirm that this test represents my work only, without aid from
outside sources. In all aspects of this course I perform with honor and integrity.

SHOW YOUR WORK ON ALL OF THE PROBLEMS — YOUR APPROACH TO THE PROBLEM IS AS IMPORTANT AS (IF NoT MORE)

IMPORTANT THAN) YOUR FINAL ANSWER.

Total Score:
1) (20pts) When we solve kinematics problems, we use two basic equations (one for velocity and one for

position) that arise directly from the definitions of velocity and acceleration. Starting with the
definitions of velocity and acceleration, derive these equations using calculus and list any assumptions

that were made.
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2. Short questions, 4 points each.

2.1 A projectile is fired with an initial Velocitﬂ VC,I at an angle 6 as in the picture below.
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Circle the correct expression for the x component of the projectile's velocity at the midpoint of its flight.
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2.2) Circle the Eorrect position versus time plot for the given velocity versus time plot.
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2.3 Which diagram correctly illustrates the vector equation A-B=C J C
L_-___———“-

2.4 If I throw a ball straight up, in the absence of air resistance, its velocity vector when it hits my hand is:

a) equal to the initial velocity vector
b) greater in magnitude than the initial velocity vector

éequak in magnitude to the initial velocity vector but opposite in direction.
d) less in magnitude than the initial velocity vector

2.5 A projectile launched at an angle of 30° (projectile A) has the same range as a projectile launched with
the same initial velocity at an angle of 60° (projectile B). Which of the fol]ov}ngasta%err&?nts regarding

. ; aliog =
their total flight time is true’ . \ \ B P /a‘yp/
a) Projectile A has a longer flight time than Projectile B. / \ Eime

b) Projectile A has a the same flight time as Projectile B. / \
@Projectile A has a shorter flight time than Projectile B. /( \
Not enough information. /
/ A .




SampLE TesT 1
Prys 111 Sering 2010

2) It's Sunday afternoon and you have just arrived at the park with your dog Bowser. Ignoring the leash
law, Bowser takes off chasing rabbits and squirrels. You started out together but soon part ways. Bowser
chases a rabbit due south for 25 yards and then chases a squirrel along a line 10° north of east for 30
yards. In the meantime, your leisurely stroll takes you to a point 10 yards north and 15 yards west of

your starting point.

a) Find the x and y components of the displacement vector between you and Bowser.
b) Calculate the magnitude and direction of the vector you found in part a.
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3) Wily coyote has purchased a new dart gun that he plans to use on roadrunner. Being somewhat
uncoordinated he accidentally fires the gun straight up. The gun was 0.50 m above the ground when it
fired, the dart reached a maximum height of 50.50 m above the ground, and Wily is 1.00 m tall. What is
the darts velocity when it hits him in the head?

a) Find an expression for the Dart's INITIAL velocity. Plug in the numbers and find a numerical value.
b) Using the initial velocity, find an expression for the dart's FINAL velocity as it hits him in the head.
Plug in numbers and find a numerical value.

S h = 0.50,

. b h- OO

A j s | j/ h. =50.50m
7

'
1
!
{

T

h, T T Y =
| )

ﬂ) We can Lind the Aarts initial 76/06/‘&/ by /’M&M//'V%'
'/ ‘ heriy h and realiz; ¢ bat =
[t mazinuin 1€ t and realizing y=0 at
tlat point.




b) //ow we can 45501/115 we. /ttwh/ Wy ﬁM;/ Sﬂ//@ Kor 7/&

%:%ﬁat Y f r Yt 4l
R -0 @ h=h $ Y- 4

Awe rats. ., ghd/méfc s)q £ -
Best to Just buck up §
Rewrite @ and apply the quadrtic Aormula,

Fon @0 < (h-h) r %t -t

+ 2/ %;‘/' 2 O"'L)}.
7

Tw this case, ety ~ind nambers Aor ¢

t =

—_

T = ﬂ?/g @3 + )05 - /'0)(‘”)) \(

e Lo, (6.97 0t |

Passing. his head ’Ey. the nay
oh the way up Lk down,

Sl U= 313 - (‘[?)(@37)
/_7\//: ;'3( r MZ;;




SAMPLE TEST 1
PHYS 111, FALL 2013, SECTION 1

5) A soccer ball is kicked with an initial speed of vy at an upward angle of 6. A player a distance d away in
the direction of the kick starts running at the same moment.

What must her speed be to meet the ball and catch it just before it hits the ground?
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Extra Space for #5
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